Practice Q & A 
(Chapter 8 - 13)
Chapter 8

	

	1 .
	     
	Which of the following queries determines which enrolled students have no grades at all. 

[image: image1.wmf]  
  SELECT DISTINCT student_id

    FROM enrollment e

   WHERE NOT EXISTS

        (SELECT '*'

           FROM grade

          WHERE e.student_id = student_id)
[image: image2.wmf]  
  SELECT DISTINCT student_id

    FROM grade g

   WHERE NOT EXISTS

        (SELECT NULL 

           FROM student

          WHERE g.student_id = student_id)
[image: image3.wmf]  
  SELECT student_id

    FROM grade g

   WHERE grade_type_code = 'HW'

     AND NOT EXISTS

        (SELECT NULL

           FROM enrollment

          WHERE g.student_id = student_id)
[image: image4.wmf]  
  SELECT student_id

    FROM enrollment e 

   WHERE student_id IN

        (SELECT student_id 

           FROM grade

          WHERE grade_type_code = 'HW')


	[image: image5.png]




	2 .
	     
	Write the question for the following query: 

SELECT course_no, description

  FROM course

 WHERE course_no IN

       (SELECT course_no

          FROM section

         WHERE location = 'L111')

    OR prerequisite = 20

[image: image6.wmf]  
List the course number and description of courses with the prerequisite course number 20. These courses should also not exist in the SECTION table.
[image: image7.wmf]  
List the course number and description of courses that have a location of L111 and a prerequisite of course number 20.
[image: image8.wmf]  
List the course number, prerequisite, and course description of courses with a location of L111 or a prerequisite course number of 20.
[image: image9.wmf]  
List the course number and description of courses with either the course number 20 as a prerequisite or a location of L111.


	[image: image10.png]




	3 .
	     
	Write the question for the following query: 

SELECT first_name, last_name

  FROM instructor

 WHERE zip NOT IN

       (SELECT zip

          FROM zipcode)

[image: image11.wmf]  
List the first and last name of the instructors with zip codes that do not exist in the ZIPCODE table. Instructors with NULL values in the zip column do not show in the result.
[image: image12.wmf]  
Display the instructor's first and last name. Show only those that have a zip code in the ZIPCODE table.
[image: image13.wmf]  
List the instructors with zip codes that do not exist in the ZIPCODE table.
[image: image14.wmf]  
Select the instructors with a NULL value in the ZIPCODE table.


	[image: image15.png]




	4 .
	     
	The following SQL statement can be expressed differently. Choose the correct equivalent statement. 

SELECT course_no, prerequisite

  FROM course

 WHERE course_no IN

      (SELECT course_no

         FROM section

        WHERE NVL(section_no, 99) > 3)

[image: image16.wmf]  
SELECT DISTINCT c.course_no, prerequisite

   FROM course c, section s

   WHERE c.course_no = s.section_no

     AND NVL(section_no, 99) > 3

[image: image17.wmf]  
Invalid query.
[image: image18.wmf]  
SELECT DISTINCT c.course_no, prerequisite 

     FROM course c, section s

   WHERE c.course_no = s.course_no

     AND NVL(section_no, 99) > 3

[image: image19.wmf]  
  SELECT course_no, prerequisite

    FROM course

   WHERE NOT EXISTS

        (SELECT NULL

          FROM section

         WHERE NVL(section_no, 99) > 3)



Answers for "Chapter 8"
	


	1.
	
	Which of the following queries determines which enrolled students have no grades at all.

	
	[image: image20.png]



	  SELECT DISTINCT student_id

    FROM enrollment e

   WHERE NOT EXISTS

        (SELECT '*'

           FROM grade

          WHERE e.student_id = student_id)

	
	
	Note that a student enrolled in multiple classes, but having only a single grade in one class, is also included in this result.

	


	2.
	
	Write the question for the following query: 

SELECT course_no, description

  FROM course

 WHERE course_no IN

       (SELECT course_no

          FROM section

         WHERE location = 'L111')

    OR prerequisite = 20



	
	[image: image21.png]



	List the course number and description of courses with either the course number 20 as a prerequisite or a location of L111.



	


	3.
	
	Write the question for the following query: 

SELECT first_name, last_name

  FROM instructor

 WHERE zip NOT IN

       (SELECT zip

          FROM zipcode)

	
	[image: image22.png]



	List the first and last name of the instructors with zip codes that do not exist in the ZIPCODE table. Instructors with NULL values in the zip column do not show in the result.

	
	
	To include instructors with NULL values use the NOT EXIST operator instead.

	


	4.
	
	The following SQL statement can be expressed differently. Choose the correct equivalent statement. 

SELECT course_no, prerequisite

  FROM course

 WHERE course_no IN

      (SELECT course_no

         FROM section

        WHERE NVL(section_no, 99) > 3)



	
	[image: image23.png]



	SELECT DISTINCT c.course_no, prerequisite 

     FROM course c, section s

   WHERE c.course_no = s.course_no

     AND NVL(section_no, 99) > 3


	



Chapter 9

	[image: image24.png]




	1 .
	     
	A DISTINCT must always be used in the top-most SELECT statement of a set operation. 

[image: image25.wmf]  
True
[image: image26.wmf]  
False


	[image: image27.png]




	2 .
	     
	It is possible to combine data from two tables that do not have a primary key/foreign key relationship into one result using a set operation. 

[image: image28.wmf]  
True
[image: image29.wmf]  
False


	[image: image30.png]




	3 .
	     
	You cannot order the results of a set operation. 

[image: image31.wmf]  
False
[image: image32.wmf]  
True


	[image: image33.png]




	4 .
	     
	The UNION and UNION ALL set operators have the opposite effect of each other.  

[image: image34.wmf]  
False
[image: image35.wmf]  
True


	[image: image36.png]




	5 .
	     
	To obtain a list of last names that students and instructors share, you use the MINUS set operator. 

[image: image37.wmf]  
False
[image: image38.wmf]  
True



Answers for "Chapter 9"
	


	1.
	False
[image: image39.png]



	A DISTINCT must always be used in the top-most SELECT statement of a set operation.

	


	2.
	True

[image: image40.png]



	It is possible to combine data from two tables that do not have a primary key/foreign key relationship into one result using a set operation.

	


	3.
	False

[image: image41.png]



	You cannot order the results of a set operation.

	


	4.
	False
[image: image42.png]



	The UNION and UNION ALL set operators have the opposite effect of each other.

	


	5.
	False [image: image43.png]



	To obtain a list of last names that students and instructors share, you use the MINUS set operator.

	



Chapter 10

	[image: image44.png]




	1 .
	     
	There are no restrictions with using the Oracle outer join operator (+). 

[image: image45.wmf]  
True
[image: image46.wmf]  
False


	[image: image47.png]




	2 .
	     
	The ANSI join syntax is more flexible than the Oracle outer join syntax. 

[image: image48.wmf]  
True
[image: image49.wmf]  
False


	[image: image50.png]




	3 .
	     
	Self joins are only used for tables with recursive relationships. 

[image: image51.wmf]  
False
[image: image52.wmf]  
True


	[image: image53.png]




	4 .
	     
	Oracle supports a full outer join using two outer join operators (+).  

[image: image54.wmf]  
False
[image: image55.wmf]  
True


	[image: image56.png]




	5 .
	     
	All joins must be based on the equality of values between the joining tables. 

[image: image57.wmf]  
False
[image: image58.wmf]  
True



Answers for "Chapter 10"
	


	1.
	False
[image: image59.png]



	There are no restrictions with using the Oracle outer join operator (+).

	


	2.
	True

[image: image60.png]



	The ANSI join syntax is more flexible than the Oracle outer join syntax.

	


	3.
	False

[image: image61.png]



	Self joins are only used for tables with recursive relationships.

	


	4.
	False
[image: image62.png]



	Oracle supports a full outer join using two outer join operators (+).

	


	5.
	False [image: image63.png]



	All joins must be based on the equality of values between the joining tables.

	



Chapter 11

	[image: image64.png]




	1 .
	     
	You cannot selectively delete rows from a table. 

[image: image65.wmf]  
True
[image: image66.wmf]  
False


	[image: image67.png]




	2 .
	     
	When inserting data into a table from another table, the table names and columns must be the same. 

[image: image68.wmf]  
True
[image: image69.wmf]  
False


	[image: image70.png]




	3 .
	     
	Transaction control determines when data manipulation becomes permanent in a database. 

[image: image71.wmf]  
True
[image: image72.wmf]  
False


	[image: image73.png]




	4 .
	     
	You can update only a single column at a time in a table. 

[image: image74.wmf]  
True
[image: image75.wmf]  
False


	[image: image76.png]




	5 .
	     
	The TRUNCATE command removes all data permanently from a table. 

[image: image77.wmf]  
True
[image: image78.wmf]  
False


	[image: image79.png]




	6 .
	     
	The TRUNCATE command and the TRUNC function can be used interchangeably. 

[image: image80.wmf]  
True
[image: image81.wmf]  
False


	[image: image82.png]




	7 .
	     
	The conditional INSERT FIRST command evaluates the WHEN condition in order. For all conditions that are true a row is inserted into the appropriate table.

[image: image83.wmf]  
True
[image: image84.wmf]  
False


	[image: image85.png]




	8 .
	     
	A session is an individual connection to the Oracle database server. 

[image: image86.wmf]  
True
[image: image87.wmf]  
False


	[image: image88.png]




	9 .
	     
	DML statements such as INSERT, UPDATE, DELETE, and MERGE obtain a lock on the row(s), so other users cannot manipulate it. 

[image: image89.wmf]  
True
[image: image90.wmf]  
False


	[image: image91.png]




	10.
	     
	Oracle's multi-versioning feature achieves read-consistent query results. 

[image: image92.wmf]  
True
[image: image93.wmf]  
False



Answers for "Chapter 11"
	


	1.
	False
[image: image94.png]



	You cannot selectively delete rows from a table.

	


	2.
	False

[image: image95.png]



	When inserting data into a table from another table, the table names and columns must be the same.

	


	3.
	True

[image: image96.png]



	Transaction control determines when data manipulation becomes permanent in a database.

	


	4.
	False

[image: image97.png]



	You can update only a single column at a time in a table.

	


	5.
	True
[image: image98.png]



	The TRUNCATE command removes all data permanently from a table.

	


	6.
	False [image: image99.png]



	The TRUNCATE command and the TRUNC function can be used interchangeably.

	


	7.
	False
[image: image100.png]



	The conditional INSERT FIRST command evaluates the WHEN condition in order. For all conditions that are true a row is inserted into the appropriate table.

	
	
	Note: Only for the first condition that is true, a row is inserted into the table. Subsequent conditions are no longer tested

	


	8.
	True
[image: image101.png]



	A session is an individual connection to the Oracle database server.

	


	9.
	True
[image: image102.png]



	DML statements such as INSERT, UPDATE, DELETE, and MERGE obtain a lock on the row(s), so other users cannot manipulate it.

	


	10
	True
[image: image103.png]



	Oracle's multi-versioning feature achieves read-consistent query results.

	



Chapter 12

	[image: image104.png]




	1 .
	     
	A table can be created with or without data. 

[image: image105.wmf]  
False
[image: image106.wmf]  
True


	[image: image107.png]




	2 .
	     
	A table cannot be dropped if it has data in it.

[image: image108.wmf]  
False
[image: image109.wmf]  
True


	[image: image110.png]




	3 .
	     
	Constraints always have a name.

[image: image111.wmf]  
True
[image: image112.wmf]  
False


	[image: image113.png]




	4 .
	     
	Constraints must be explicitly enabled before they can be used by the database. 

[image: image114.wmf]  
False
[image: image115.wmf]  
True


	[image: image116.png]




	5 .
	     
	You can add to and drop columns from a table using the ALTER TABLE command. 

[image: image117.wmf]  
False
[image: image118.wmf]  
True


	[image: image119.png]




	6 .
	     
	You can rename a table with the RENAME or the ALTER TABLE command. 

[image: image120.wmf]  
True
[image: image121.wmf]  
False


	[image: image122.png]




	7 .
	     
	A parent table referenced by a child table may not be dropped. 

[image: image123.wmf]  
False
[image: image124.wmf]  
True


	[image: image125.png]




	8 .
	     
	The data of a temporary table is visible to all sessions. 

[image: image126.wmf]  
True
[image: image127.wmf]  
False


	[image: image128.png]




	9 .
	     
	The NUMBER data type is usually the best choice for a primary key.

[image: image129.wmf]  
True
[image: image130.wmf]  
False


	[image: image131.png]




	10.
	     
	By default, the foreign key restricts deletes of any parent row that has a corresponding child row(s). 

[image: image132.wmf]  
True
[image: image133.wmf]  
False



Answers for "Chapter 12"
	


	1.
	True
[image: image134.png]



	A table can be created with or without data.

	


	2.
	False

[image: image135.png]



	A table cannot be dropped if it has data in it.

	


	3.
	True

[image: image136.png]



	Constraints always have a name

	


	4.
	False
[image: image137.png]



	Constraints must be explicitly enabled before they can be used by the database.

	


	5.
	True
[image: image138.png]



	You can add to and drop columns from a table using the ALTER TABLE command.
.

	


	6.
	True
[image: image139.png]



	You can rename a table with the RENAME or the ALTER TABLE command.

	


	7.
	True
[image: image140.png]



	A parent table referenced by a child table may not be dropped.

	
	
	You must either remove the foreign key constraint on the child table or drop the parent table with the ALTER TABLE tablename CASCADE CONSTRAINT option.

	


	8.
	False
[image: image141.png]



	The data of a temporary table is visible to all sessions.

	
	
	A temporary table is either session-specific or transaction-specific. When a user creates a session-specific temporary table, the same user cannot see the data in the temporary table from another session. Only the session that created the data.

	


	9.
	True
[image: image142.png]



	The NUMBER data type is usually the best choice for a primary key.

	
	
	Other data types, such as VARCHAR2 are prone to punctuation, case-sensitivity, and spelling mistakes, which make it more difficult to distinguish if two records are identical. The DATE or DATETIME data types contain a timestamp you will need to take under consideration. 

	


	10.
	True
[image: image143.png]



	By default, the foreign key restricts deletes of any parent row that has a corresponding child row(s).

	



Chapter 13

	[image: image144.png]




	1 .
	     
	QUESTION: The following is the CREATE TABLE statement of a table named EMP and the CREATE VIEW statement of the MY_EMP view. Determine the salary for the new employee Smith based on the INSERT statement issued. 

CREATE TABLE emp

 (emp_id NUMBER NOT NULL,

 last_nm VARCHAR2(50),

 salary NUMBER(10,2) DEFAULT 0 NOT NULL)

CREATE OR REPLACE VIEW my_emp AS

SELECT emp_id, last_nm

 FROM emp

INSERT INTO my_emp

 (emp_id, last_nm)

VALUES

 (110, 'SMITH')

[image: image145.wmf]  
Smith's salary is NULL.
[image: image146.wmf]  
Smith's salary is 110. 
[image: image147.wmf]  
Smith's salary is 0.
[image: image148.wmf]  
The INSERT statement fails


	[image: image149.png]




	2 .
	     
	The following index was created on the STUDENT table:

CREATE INDEX stud_reg_dt ON student(registration_date)

Determine if the query takes advantage of the index.

SELECT student_id

 FROM student

 WHERE registration_date >= TRUNC(SYSDATE-1)

[image: image150.wmf]  
False
[image: image151.wmf]  
True


	[image: image152.png]




	3 .
	     
	The following index was created.

CREATE INDEX crse_cost_i ON course (cost)

Determine which of the following queries takes advantage of the index.

[image: image153.wmf]  
SELECT cost

  FROM course

 WHERE cost >= 11.2304
[image: image154.wmf]  
SELECT cost, course_no

  FROM cost

 WHERE cost <> 1200
[image: image155.wmf]  
SELECT cost, course_no

  FROM cost

 WHERE NVL(cost, 0) = 1200
[image: image156.wmf]  
SELECT cost, course_no

  FROM cost

 WHERE cost IS NULL



Answers for "Chapter 13"
	


	1.
	
	QUESTION: The following is the CREATE TABLE statement of a table named EMP and the CREATE VIEW statement of the MY_EMP view. Determine the salary for the new employee Smith based on the INSERT statement issued. 

CREATE TABLE emp

 (emp_id NUMBER NOT NULL,

 last_nm VARCHAR2(50),

 salary NUMBER(10,2) DEFAULT 0 NOT NULL)

CREATE OR REPLACE VIEW my_emp AS

SELECT emp_id, last_nm

 FROM emp

INSERT INTO my_emp

 (emp_id, last_nm)

VALUES

 (110, 'SMITH')



	
	[image: image157.png]



	Smith's salary is 0.

	
	
	Note: No value for the salary has been entered, therefore the default value is inserted into the table.

	


	2.
	True

[image: image158.png]



	The following index was created on the STUDENT table:

CREATE INDEX stud_reg_dt ON student(registration_date)

Determine if the query takes advantage of the index.

SELECT student_id

 FROM student

 WHERE registration_date >= TRUNC(SYSDATE-1)



	


	3.
	
	The following index was created.

CREATE INDEX crse_cost_i ON course (cost)

Determine which of the following queries takes advantage of the index.



	
	[image: image159.png]



	SELECT cost

  FROM course

 WHERE cost >= 11.2304
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